NALOGA 1

START

ST_LJUDI=0

v

IZKUPICEK =0

ST_LJUDI
<100

TRUE

NASTAVI
KLOBUK
Page 2

v

1ZKUPICEK = IZKUPICEK +

ZNESEK

STOP

Page 1

NASTAVI KLOBUK

START

ST_LJUDI =
ST_LJUDI +1

v

ZNESEK =
RANDOM(5)

v

ZNESEK =
ZNESEK/ 10

STOP
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NALOGA 2

START

ST _LJUDI=0
1ZKUPICEK = 0

1ZKUPICEK
<10

NASTAVI
KLOBUK
Page 2

PRINT
Hvala za
vasih
#ZNESEK

PRINT
Prekleti
skopuh

PRINT
Priberaceni
znesek
#1ZKOPICEK

faY=Yahia\Vi
f T

 J
IZKUPICEK = IZKUPICEK +
ZNESEK

STOP

ASTAVI KLOBUK

START

ST_LJUDI =
ST_LJUDI + 1

'

ZNESEK =
RANDOM(5)

ZNESEK =
ZNESEK /10

STOP
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NALOGA 3

START

DISPLAY
Vpisi Stevilo
tednov:

INPUT:
N

o]
<G>

TRUE

FALSE STOP

i

VSOTA UR =0

PRINT
L teden:

1
Text

l ST_UR = RANDOM(4)+6
FALSE
J=0
PRINT v
4,00 - vsota =
#VSOTA_UR, J<5
TRUE

PRINT
HST_UR

D

’ VSOTA_UR = VSOTA_UR +
ST_UR

J=J+1

i

ST UR=ST UR-1 |




NALOGA 4

START INPUT: N

\ /
"
o

DELOVNE_SOBOTE =0

I<N

TRUE

VSOTA UR =0

PRINT
L teden:

FALSE

DISPLAY

Joze je moral delati

#DELOVNE_SOBOTE < SIO8 )

sobot.

ST_UR = RANDOM(4)+6

DELOVNE_SOBOTE + 1

TRUE
RAZLIKA = FALSE
32-VSOTA_UR l
1 ]
PRINT PRINT
HRAZLIKAO — ,0 0 - vsota =
vsota = 32" #VSOTA_UR,
1]
DELOVNE_SOBOTE =

J<5

TRUE

PRINT
H#ST_UR

VSOTA_UR = VSOTA_UR +
ST_UR

]

J=J+1

ST UR=
ST_UR-1




NALOGA 5

START

ST_ENAKIH =0,
ZADNJA CIFRA=0
ST_METOV =0
L
] FALSE
PRINT
.- Stevilo metov =
#ST_METOV,
KOCKA =
/ newne )/ e
- PRINT
P
ST_METOV =
ST_METOV + 1
KOCKA =
RUE oc

ZADNJA_CIFRA

ST_ENAKIH =ST_ENAKIH + 1

ST_ENAKIH =1

T

|

ZADNJA_CIFRA =
KOCKA

:




